
	 	 	

	 	 	

	 	 	

	 	

	

	

0

5

10

15

-0.8 -0.6 -0.4 -0.2 0.0 0.2 0.4 0.6 0.8

Count

Error (eV)

ADC(2)

0

5

10

15

-0.8 -0.6 -0.4 -0.2 0.0 0.2 0.4 0.6 0.8

Count

Error (eV)

ADC(3)

0

5

10

15

-0.8 -0.6 -0.4 -0.2 0.0 0.2 0.4 0.6 0.8

Count

Error (eV)

CIS(D)

0

5

10

15

-0.8 -0.6 -0.4 -0.2 0.0 0.2 0.4 0.6 0.8

Count

Error (eV)

CC2

0

5

10

15

20

25

30

-0.8 -0.6 -0.4 -0.2 0.0 0.2 0.4 0.6 0.8

Count

Error (eV)

STEOM-CCSD

0

5

10

15

20

25

30

-0.8 -0.6 -0.4 -0.2 0.0 0.2 0.4 0.6 0.8

Count

Error (eV)

CCSD

0

5

10

15

20

25

30

-0.8 -0.6 -0.4 -0.2 0.0 0.2 0.4 0.6 0.8

Count

Error (eV)

CCSDR(3)

0

10

20

30

40

-0.8 -0.6 -0.4 -0.2 0.0 0.2 0.4 0.6 0.8

Count

Error (eV)

CCSDT-3

0

10

20

30

40

50

60

70

-0.8 -0.6 -0.4 -0.2 0.0 0.2 0.4 0.6 0.8

Count

Error (eV)

CC3

0

10

20

30

40

50

60

70

-0.8 -0.6 -0.4 -0.2 0.0 0.2 0.4 0.6 0.8

Count

Error (eV)

CCSDT

0

10

20

30

40

50

60

70

-0.8 -0.6 -0.4 -0.2 0.0 0.2 0.4 0.6 0.8

Count

Error (eV)

CCSDTQ


